) 1o onax dle-bike raciig, jumping high or “getting air" depunds o many factors: the rider's skill, the angle of the
Jump, snd thewelght of the bike. Here are dats about the maximum height for various bike welghts,

Walght | 49 195 [ 05 (3 o JHEHSTTH FER N ]
{pounds) _ -
T T T O T PN T 73— 7 X
| Lineheg)
8. Plot the dats on the graph butow, Be sune 1o label the graph,

b Elad thie the ne of best il

€. What do the rote of chanipge snd pdntercent toll
you sbout this situation?

d.  Usingyour eguation oryour graph, prodict the
vt Bedght for o bike that wolghs 18 ths,

& Uslng your equation or vour graph, prediat the
vialght of g blke thet jumped Hinches.

o e andrnal that nrimarily ves in Ching, A grown male panda can
‘ The slant panda is an endangersd animal that primarily lives in (hina, !
‘ mﬁg up £ 350 pounds. The weight of a panda bear was recorded when it was born,

iR . ; 8 w1 12
Agelmonths}, 1 1 2 5 4 B . R Ty
f:igfgghr t{in _gagmxs} 58 | 76 | 125 | 73 | 243 | 878 | 492 1 549

> a Find 4 Bnear model ot best fits the data.
b Predict the weight of the panda thatls: & Predict sghé g&g% of the panda that weljhs:
i, 18 months old: i 100 s

. 20montbs old: H, 1501bs

B, b months old: 1§, 200 thy




&) Satly and her frifends left for a road !;%ﬁp during spring break: They recorded how many miles

they

drove alter eacl hour,

o
Loy

Hours Driven 1

10

o Find the linear moded that best describes the data.

SR

Predict the distance traveled if & Prodice the namber of hours deiven i

Sally has been driviag: the distance teavelad:,
o fowrs: L 1600 miles:

# 11 hours: ' B, 250 miles:

5 kS hours: #1608 miles

H ) The table below shows the concentration of ozone

in Barth's atmosphere at different altitudes. Write
the expanential regression equation that models
these data, rounding o/ values to the nearest
thousandil,

Concentration of Ozong
__Aititude (x) | Ozone Units () |

i —
20 4.8

A box containing 1,000 coing is shaken, and the ceins are emptied onto a
table. Only the cofns that land heads up are returned to the box, and then
the process is repeated. The accompanying table shows the number of
trials and the number of colns returned to the box aftor each trial.

Tetul O 1 {1 a n &
Lolns Betumed [ 1000 | 810 1 220 | 192 | 48

Write an exponential regression equation, rounding the caleulated values
to the nearest ten-thousandth,

Use the equation to predict how many coins would be returned to the box
nfter the eighth trial.




